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THMSEEAFEREHRMELFRMENATRIZONT

No| R | XEATE %
1[4t izl B 42,544
2|F E g2 252,129
3|& F 2 342,316
4B Bk 2 173,836
5|Fk H 2 12,372
6|LL i 2 8,979
7|48 5 =2 74,643
8|%% Wk g2 550,233
9| N =} 144,272

10| 3% 5 2 1,598,609

11(1% £ g 9,489

12|F = 2 827,294

13| R B 104,286

14 = JII B 16,006

15(%F P 2 50,197

16[= il 2 415,050

17|A n =} 155,320

18|& i =2 17,980

19(LL 3 =2 101,260

20| & ¥ = 22,573

215 B =} 55,843

22|8% fif] = 74,290

23| & p3l = 105,997

24| = ) g2 5,849

25|i# =1 = 70,380

26| #B FF 726,566

27| X 53 FF 550

28| & 4 2 1,373,627

29|& B =} 165,043

o(f1 ;™ W & 5,375

315 B =2 6,932

2|5 iR =3 81,657

33| il = 75,746

34| 5 2 26,161

35|LL a = 5278

36|17 5 =} 649,065

37|&F N g 581,597

38| % % g 102,487

9= p3l = 5,921

40|1& fit] g2 1,303,693

a1k B = 317,882

12| & 5 = 29,192

43|k K 2 45,088

44| K 7 2 300,094

45| = 5 = 54,915

46| R B B 42,547

shiBiR BN IR B3

o ® R oS n

=11 11,131,163
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EEfEBEE
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B[
k=) k=) K E KRB R F e 2 AR5 FKRBEFREROKREF R 122,935
ook = sk ef ) HERKE KRB R F R B 78RS FKIRBEFEERCEKIEER) 240,443
bk ol ) R PREKE KRR E R 2R FARINEKRFAFIESRCEK XK TR 1,689,947
ik o) sk el 23 PREKE KRR E R 2R B IR K E AR AR (R ER 368,016
HPEE PEE PREKE KRR E R R iR K E KA R (BREER) 5,927,680




